SE AR i AE

0-1. BU ¢(z,y,2) = 322y — y322 TRIND L E, 5 (1,-2-1) BT B Vo 2Rk k.
(i)

0 0

Vo = (5-i+ o5+ 5-k)(32°y — y°2%)
x 2

= 6xyi + (322 — 3y*2%)j — 22k

At point(1, -2, —1), V¢ = —12i — 95 — 16k

0-2. p=Inlr| TRINBLE Vy 2KOK. TITr=zxityj+z2k TH5.
(fi%)

=vVa2+y?+ 22 ¢=In|F| = ln(x2+y2+22)
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Vo= {i k
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0-3. ¢ = 22%y%2* TRINDB L E, RDOfE%EKRD K. (1) VV¢ (div gradg), (2)VVe = V24
05 ERYE
0? 0? 0?
2 — R
where V¢ = 92 +8 5 +822
(fi%)
(1) Vo = 62%y? 2% + 4ady2*j + 8239?25k
VV¢ = 12z 2* + 242312 2>
8 8¢ 1))

0 . 0

9 ¢ 99 324’ @ 3125 2
8x+6y+8z 3x+8y+6z =V'e

0-4. A = 2%yi — 2xzj +2yzk 725 & F curl curlA %R k.

(F#)
ik
curl curlA =V x (V x A) = % a% %

22y —2zz 2yz

=V x {(2z 4 22)i — (2 + 22)k}

0-5.6=1/[F) LLT Vg #RD&. ZZCTT=xityjtzk THB.



(fi)
7l = Va2 +y? +2°
x Y . z

gradg =Ve = _Z(x2 Tyt 22)3/2 Z($2 2+ 22)3/2 - Z(x2 T y2 1 22)3/2

ri+yj + zk T

R rr 2P 8

0-6. V2(1/[F) =0 %3 2 L 2FE . ZZTT=aityj+zk TH5.
()

V2 = —(2? + y? 4 2%) 732 4 302 (2 4 % + 22)7%/2
(@ 22 3y (e 4y 22) O
(@ P 4 22 432202 gy g 2R) O
_ _3(x2 +y2 + 22)_3/2 + 3(.’1?2 +y2 + 22)(1‘2 +y2 _|_22)—5/2 =0
0-7. 5L A=wzi —yzj +ayz TRIND L EH (1,-1,1) 2B} 5 VA(divA) %KD k.

()

— 0 0 0
V (8332 + ayj + azk‘)(xzz yzj + xyzk)

=z—z+ay=ay, VAL, -1,1)=-1

0-8. XD A% GEHHE &.

(1) V x (V¢) = 0(curl gradp = 0), (2) V(V x A) =0 (div curlA = 0)



